—

x—2y)(x -2y —4z) - 1272 o] AlF7F1
Bajd off, T A4 9] g2 F5HH?

D 2x-4y+4z @)2x — 4y — 4z

@ 2x+4y+4z ® dx-2y—4z

Q5 Ao Foz

® 2x-4y+3z

B

x—2y=A¢=sHH
A(A— 42) - 122 = A~ 4Az — 122
= (A-62)(A+22)

= (x—2y—62)(x -2y +22)
L (x-2y-62)+ (x—2y+27) =2x -4y — 42




2.

rot

(2x - 1)* = (x +2)* & ALESEHA (3x +a) (x + b) 7F Aok D
o m, a — b o] = F5HH?

® -1 @ 3 @0 @ 2 ©) I

B

2x—1=A, x+2 = BE X|3s}H
(2x-1)% - (x+2)?
=A%2-B>=(A+B)(A-B)
=(2x-1+x+2)(2x—1-x-2)
=Bx+1)(x-3)

La=1,b=-3
La-b=1+3=4




(x* + 5x + 6)(x? — 3x + 2) — 252 & HF=A| Il gF

@) (2 + x+12)(x - 4)(x +5)

X2 —x+12)(x+4)(x-5)

X +2x-12)(x+4)(x - 5)

®© ® 0 ©

(
(
(x* = x=12)(x+ 4)(x - 5)
(
(

X2 +2x-12)(x —4)(x + 5)

~&B

(x% +5x+6)(x2 — 3x + 2) — 252
=(x+2)(x+3)(x—1)(x—2) - 252
((x+2)(x = DH(x + 3)(x - 2)} — 252
(x2+x—2) (x2—|—x—6)—252
+x =12 2SI,

(t—2) (t-6) — 252

=2 — 8+ 12 - 252

= 1> —8r—240

(t+12)(z — 20)

(x% + x + 12)(x? + x — 20)

= (2 +x+12)(x—4)(x+5)

s




4.  4x? —dxy+y? +4x-2y B ARG EY (2x - y) (Ax— By + C)
7} H T A+ B+ C 9] & Fotoiet

4% —dxy+y2 +4x -2y = (2x—y)2 +2(2x - y)
=(2x-y)(2x-y+2)

L A=2,B=1C=2

L A+B+C=5




5. a-b=2%L W, a®-2ab+ b* + 4a - 4b O] FE Fotoi=t,
=

[ 2
> ™E: 12

ok =

B

a?—2ab+ b2 +4a—4b = (a—b)? +4(a—b)
=224+4x%x2
=4+38
=12




1

= oo, 12 + & o] o AWE AE BER?
5-3V3 x°
130 + 755 130 + 75 V3 130 — 453
@ 2 i 2 2 A @ 2
130 + 755 120 + 753
@ VTV @ VT NS
3 2
B 5+3V3 _5+343
(5-3V3)(5+3/3) -2
1
- =5-343,
X
2 1
ﬁ:M,_:m_go\ﬁ
4 x2

L2 L 260-90V3 130453

x2

4 2




7. xX*+3xy-x-6y—2%5 A+ 5t4A (x - 2)(ax + by + ¢) ©|T}.
a+b+c o gt= TorefEt
> E

> & a+b+c=5

B ~

x? + 3xy —x — 6y — 25 x°f Tl FlstH
x4+ By-1)x-23y+1) = (x—2)(x+3y+1)
ca=1,b=3,c=1

“a+b+c=5




